SAEZIE =2

hel nd

LWR50L-21-00002-A

> HE

MZ&TCH

X IdcH
o

(=

12|

H| o4

A& 22 [C

IEC 60529 &=/ &5 &4
FA [kal

o olHx A
&= 2EZ23 [mm]
X, Y BFEE YT [mm]
[mm]

S A = [N]
FUZX YOI AZEA F2ZMH [mm]

Al =of =&

Aol= 0| E

SHER

=1 ]

IR &X|

S OO E S8 AR X
ZTLAEE] TH
| A THX| = [N]
4 oK [N]
Ao AlZt[s]
ZEE 2y = X Z| o B ko]
2|3 = Z[Cf 20| [mm]

A HE ZEOAM E ) 0| & £ = [mm/s]
SFEHAUE +/- [mm]

ek v

F| O AH| ™3 [A]

JdelH & stLte & A &2 Al [mm]

> uX| ctojoiaHy

Jde2lH 2 Zo| 3 7 mpx| ol et JejE RolM gdshs N

y TxIEel fatm

LS LIER LT

1400

1200 !

1000

800

0100%
A 75%
&/ 50%
® 25%
m 10%

600 o ‘ Fa
00 \ll\"_\‘ . MX\ IMy
2003 | } = ‘ 45—
T T hd T T
o I ! T 1 {mm] Mr_L [Nm] 20 Mr [Nm] 35
0 10 20 3 40 50 60 70 8 90 100
My_L [Nm] 40 Mx [Nm] 35
Fa_L [N] 500 My [Nm] 35
Fa [N] 500
> 7l diolH

LWR50F-xx-03/04/05
2z

SRR

BLDC 2 E|

S8

of

60

100

1000

0.1

LWR50L-21-00002-A



f L=

=

ok

> 5

(A
=ERw

>

X}
(=}

dd/7|Et

ALWR1-50-A

Match - 2 E 2| X| AH|O|M

> HMA 2

|
-

AUXF A

e © =

NJ5-E2SK-01

A A0l= 0.3 m-

2ZMg S0 A

E2|x| 2H|0o|M

74
=

55

~87.6

43

66.2

76

AxP5h7 @

L 6><M3><5®

70 <—>60

62
2

<—>60

(©REF:ESnk:|
Hl & 2 o A
@9 F x|




